KEYWORTH CRICKET CLUB - 1993 SEASON

President: A Hill Chairman: J Baldrey

Vice Presidents: B Cannell, A Copson, B Coyne, J Disney, A Gladstone, H G Gray, J Hartley,

G Heeley, A Morris, G Musson, F Palmer, M White, A Wood.

Hon Vice President: Mrs M Hinchcliffe.

Gen Sec: C Anderson Fixture Sec: J Childs Treasurer: J Woodford

1st XI Captain: T Hepburn Vice Capt: D Hilborn Evening League Capt: T Hepburn

2nd XI Captain: G Robson Vice Capt: C Keeling

Groundsman: M White. Umpires: M Elliott & J Kitching. Social Sec: R Baker

Review of the Season:

South Nottinghamshire Village is now affiliated to the Club Cricket Conference.

The two Saturday teams started the season only one division apart and despite high expectations of the 1st XI getting promoted, both teams finished midway in their respective divisions.

Chris Keeling Clubman of the Year Trophy awarded to Cliff Anderson

Commercial sponsorship was secured from The Key Health & Fitness Club for the next three seasons and new tracksuits and cricket shirts were available for the season.

The highlight of the season was defeating the old enemy Plumtree by 6 wickets in the League Cup Final. We also won the Thurgarton Sixes Tournament – see last page for photos.

Presentations included...

Gunn Batting Trophy for the Best Average & Highest Score Trophy – Richard Drury 2nd XI Batting Trophy for Best Average – Ernie Lay Bowling Trophy for Best Average – Paul Branch Best Bowling Performance Trophy – Tony Newby 2nd XI Bowling Trophy for Best Average – Dave Hallam



Everybody gathers for the presentation of the Senior KO Cup in the gloom of the evening.

John Dring (captain) receives the trophy



1st XI LEAGUE MATCH RESULTS...

01.05.1993	THURGARTON	Н	Won by 8 wkts
08.05.1993	CHILWELL	A	Won by 6 wkts
15.05.1993	BOTTESFORD	Н	Won by 9 wkts
22.05.1993	FARNDON	A	Lost by 5 runs
29.05.1993	NEWSTEAD ABBEY	A	Won by 7 wkts
05.06.1993	ATTENBOROUGH II	Н	Won by 9 wkts
12.06.1993	WOOLSTHORPE	Н	Match abandoned
19.06.1993	GEDLING VILLAGE	A	Won by 7 wkts
26.06.1993	ORSTON	Н	Won by 5 wkts
03.07.1993	THURGARTON	A	Lost by 6 wkts
10.07.1993	CHILWELL	Н	Lost by 6 runs
17.07.1993	BOTTESFORD	A	Lost by 6 wkts
24.07.1993	FARNDON	Н	Won by 3 runs
31.07.1993	NEWSTEAD ABBEY	Н	Won by 70 runs
07.08.1993	ATTENBOROUGH II	A	Won by 8 wkts
14.08.1993	WOOLSTHORPE	A	Lost by 2 runs
21.08.1993	GEDLING VILLAGE	Н	Lost by 2 wkts
28.08.1993	ORSTON	A	Won by 59 runs

Youngers Nottinghamshire Village Cricket League SENIOR LEAGUE CUP... 2^{nd} rd 06.07.1993 NEWSTEAD ABBEY ? Won b 2nd rd Q/F ? Won by 6 wkts ? Lost by 66 runs 01.08.1993 PAPPLEWICK & LINBY

Youngers Nottinghamshire Village Cricket LEAGUE Table – DIVISION ONE:

		Pld	W	L	Tie	NR	Pts
1	<u>GEDLING</u>	18	13	4	0	1	196
2	FARNDON	18	12	4	1	1	189
3	THURGARTON	18	11	5	1	1	186
4	NEWSTEAD ABBEY	18	11	6	0	1	179
5	KEYWORTH	18	11	6	0	1	178
6	CHILWELL	18	9	8	0	1	159
7	ATTENBOROUGH II	18	6	11	0	1	123
8	BOTTESFORD	18	5	11	0	2	113
9	WOOLSTHORPE	18	5	11	0	2	101
10	ORSTON	18	0	17	0	1	55

HIGHEST SCORE: 181 KEYWORTH v CHILWELL (08.05.1993)

LOWEST SCORE: **KEYWORTH** v ??? (DATE)

1st XI BATTING	Averages (qualif	ication 6	compl	leted in	nings)			
	8 (1	Matches		ings	Not Out	HS	Total Run	s Ave
R DR	URY	17		6	6	85*	717	71.70
J DRI	ING	15	1	0	4	63*	270	45.00
D HII	LBORN	16	1	5	4	67	397	36.09
G BA	KER	10	9	9	0	71	214	23.78
E LA	Y	9	,	7	1	47	165	27.50
T NE	WBY	17	1	3	3	48	153	15.30
P BR	ANCH	7	(6	0	29	84	14.00
RAE	BAKER	17	8	8	1	41	80	11.43
J CHI	ILDS	17	9	9	2	25	65	9.29
T HE	PBURN	17	9	8	0	23	78	9.75
Also Batted								
K HI	TCHCOCK	8	(6	1	63	204	40.80
A EL	LIOTT	7	,	7	2	27*	120	24.00
S ME	EEK	10	:	5	1	45	59	14.75
D BA	LDREY	1		1	0	9	9	9.00
A BA	LL	17	,	7	2	5	13	2.60
D FL	ETCHER	1		1	0	2	2	2.00
N PA	LMER	7	:	5	3	3*	4	2.00
M SU	JRTEES	3		3	0	6	6	2.00
J BO	RDER	3	,	2	0	3	3	1.50
I KIT	CHINSON	4	(3	0	4	4	1.33
K HC	ORSLEY	1		1	0	0	0	0.00
B BA	KER	1		1	1	4*	4	
S DA	FT	2		1	1	0*	0	
Best off the Bat.	••							
Runs	Player			Oppos	ition		Venue	Date
85*	R DRURY		V	BOTT	ESFORD		Н	15.05.1993
79*	R DRURY			CHILV			A	08.05.1993
71*	R DRURY		V	ATTE	NBOROU(GH	Н	05.06.1993
71	G BAKER			CHILV			Н	10.07.1993
68	R DRURY			ORST	ON		Н	26.06.1993
67	D HILBORN		V	?			?	00.00.1993
65*	R DRURY				STEAD AE	BBEY	A	29.05.1993
63*	J DRING			ORST			A	28.08.1993
63	K HITCHCOCK				ING VILL		A	19.06.1993
62	R DRURY				ING VILL		Н	21.08.1993
59	R DRURY		V	NEWS	STEAD AE	BBEY	Н	24.07.1993
54*	K HITCHCOCK	-	V	THUR	GARTON		Н	01.05.1993
54	R DRURY		V	BOTT	ESFORD		A	17.07.1993
51	D HILBORN		V	THUR	GARTON		A	03.07.1993
50*	J DRING		V	FARN	DON		A	22.05.1993
	ters of the season.	••						
	URY	8						
	TCHCOCK	6						
	KER	2						
A EL	LIOTT	1						

D 4 D - 44*	D4		- C 41 C							
Wkt	ng Partne Runs	Partner	of the Season				Oppositi	on		Date
1 st	93		SER & R DRU	IDV				BOROUGH		05.06.93
2 nd	115		JRY & D HIL				BOTTES			15.05.93
3 rd	100		JRY & K HIT		-			IG VILLAGE		19.06.93
4 th	105		BORN & J DI		_		ORSTO			28.08.93
5 th	57		' & P BRANC					THORPE		14.08.93
6 th	58		JOTT & S M				FARND			24.07.93
7^{th}	20		JOTT & J CH				FARND			24.07.93
8 th	21		BURN & R A				CHILW			10.07.93
9 th	40		AKER & A B					THORPE		14.08.93
10 th	5		JRY & N PAI				BOTTES			17.07.93
1st XI BOWLING Averages (qualification 10 wickets)										
11120	, 21, (0 1)		s (quantitude)	Overs		aidens	Runs	Wkts	Ave	
	P BRAN	СН		65.1		19	184	15	12.27	
	T HEPBI			121.5		24	373	28	13.32	
	T NEWE			181		39	492	31	15.87	
	R DRUR			57		6	253	13	19.46	
	S MEEK			72.4		12	254	12	21.16	
	R A BAH	KER		96		15	440	17	25.88	
	A BALL			143.2		33	428	16	26.75	
Also Bowl	ed									
	I KITCH	INSON	ſ	12		5	14	2	7.00	
	K HITCH	HCOCK		121.1		2	63	5	12.60	
	J BORDI	ER		17.2		2	63	2	31.50	
	B BAKE	R		6		1	13	0		
	N PALM	IER		4		0	11	0		
	M SURT	EES		1		0	2	0		
Best with	the Ball									
	Figure		Player			Opposi	ition		Venue	Date
	5-15		ΓNEWBY		V		TEAD ABE		Н	31.07.93
	5-33		Γ HEPBURN		V		NBOROUG:		A	07.08.93
	5-35]	R A BAKER		V		ING VILLA	.GE	A	19.06.93
	5-49]	R DRURY		V	BOTT	ESFORD		Н	15.05.93

1st XI CATCHING & STUMPING:

CIIII I G & DI CIVII II I	. .	
	Catches	Stumpings
A BALL	6	
T HEPBURN	6	
K HITCHCOCK	5	
J DRING	4	3
P BRANCH	3	
J CHILDS	3	
A ELLIOTT	3	
J BORDER	2	
R DRURY	2	
D HILBORN	2	
E LAY	2	2
T NEWBY	2	
G BAKER	1	
R A BAKER	1	
S DAFT	1	
S MEEK	1	

2nd XI LEAGUE MATCH RESULTS...

01.05.93	WHATTON & ASLOCKTON	A	Won by 124 runs
08.05.93	LAMBLEY	Н	Won by 30 runs
15.05.93	CAUNTON	A	Won by 79 runs
22.05.93	HICKLING	Н	Lost by 66 runs
29.05.93	CAYTHORPE II	Н	Lost by 6 wkts
05.06.93	RAVENSHEAD	A	Lost by 20 runs
12.06.93	RUDDINGTON II	A	Won by 6 wkts
19.06.93	PLUMTREE II	Н	Won by 6 wkts
26.06.93	COTGRAVE	A	Lost by 14 runs
03.07.93	WHATTON & ASLOCKTON	Н	Won by 5 wkts
10.07.93	LAMBLEY	A	Lost by 93 runs
17.07.93	CAUNTON	Н	Lost by 60 runs
24.07.93	HICKLING	A	Lost by 8 wkts
31.07.93	CAYTHORPE II	A	Won by 1 wkt
07.08.93	RAVENSHEAD	Н	Lost by 138 runs
14.08.93	RUDDINGTON II	Н	Won by 28 runs
21.08.93	PLUMTREE II	A	Lost by 16 runs
28.08.93	COTGRAVE	Н	Won by 11 runs

HIGHEST SCORE: 191 KEYWORTH v LAMBLEY (08.05.93)

LOWEST SCORE: 59 KEYWORTH v HICKLING (22.05.93)

Youngers Nottinghamshire Village Cricket LEAGUE Table – DIVISION TWO:

		Pld	W	L	Tie	NR	Pts
1	<u>HICKLING</u>	18	16	2	0	0	232
2	RAVENSHEAD	18	13	4	0	1	195
3	CAYTHORPE II	18	11	7	0	0	174
4	RUDDINGTON II	18	10	8	0	0	169
5	COTGRAVE	18	9	9	0	0	161
6	KEYWORTH II	18	9	9	0	0	153
7	WHATTON & ASLOCKTON	18	6	10	1	1	132
8	LAMBLEY	18	4	12	1	1	116
9	PLUMTREE II	18	5	13	0	0	111
10	CAUNTON	18	4	13	0	1	106

2nd XI BATTING Averages (qualification: 6 completed innings)

	Matches	Innings	Not Out	HS	Total Runs	Ave
E LAY	7	7	0	76	233	33.29
P BRANCH	11	9	0	63	205	22.78
D BALDREY	17	17	0	73	366	21.52
P COCKERTON	16	16	3	43*	239	18.39
I KITCHINSON	11	9	4	42*	74	14.80
G ROBSON	16	15	3	27*	116	9.67
H PICK	15	10	3	23	64	9.14
P COLLINS	10	9	0	18	58	6.44
K BRACE	6	6	0	12	36	6.00
S PICK	15	10	1	11	45	5.00
S DAFT	12	12	4	10	33	4.13

1993 SEASON continued 2 nd XI Also Batted						
J CHILDS	1	1	0	66	66	66.00
K HITCHCOCK	1	1	0	53	53	53.00
R A BAKER	1	1	0	33	33	33.00
D FLETCHER	3	3	0	37	83	27.67
P KEELING	6	5	1	42	89	22.25
S MEEK	1	1	0	20	20	20.00
C KEELING	2	2	0	27	27	13.50
A ELLIOTT	4	4	0	15	41	10.25
C COCKERTON	1	1	0	10	10	10.00
J BORDER	4	4	0	12	25	6.25
T WRIGHT	3	3	0	9	18	6.00
J BEETON	7	5	0	11	24	4.80
	•	4	2	5*	7	
N PALMER	8	=		-		3.50
M BROWN	2	2	0	2	2	2.00
JBUTTERY	2	2	0	2	2	1.00
D HALLAM	6	2	1	1*	1	1.00
J WOODFORD	1	1	0	1	1	1.00
I WOOLLEY	1	1	0	1	1	1.00
T JENKINSON	3	3	1	1	1	0.50
S DOUGLAS	1	1	0	0	0	0.00
A EBB	1	1	0	0	0	0.00
P LAY	1	1	0	ő	ő	0.00
B VIGGERS	1	1	0	0	0	0.00
T HEATON	_	_		0	0	0.00
	1	0	0			
R RATHBONE	2	2	2	14*	14	
Best off the Bat						_
Runs Player		Opposition			Venue	Date
76 E LAY	V	WHATTON &	z ASLO	CKTON	A	01.05.93
73 D BALDRE	Y V	COTGRAVE			A	26.06.93
66 J CHILDS	V	WHATTON &	a ASLO	CKTON	Н	03.07.93
63 P BRANCH	V	CAUNTON			Н	17.07.93
60 E LAY	V	LAMBLEY			Н	08.05.93
Leading "6" Hitters of the seas						00.00.50
D BALDREY	5					
H PICK	3					
P COCKERTON	2					
P KEELING	1					
I KITCHINSON	1					
E LAY	1					
S MEEK	1					
S PICK	1					
G ROBSON	1					
Best Batting Partnerships of th	ie Season					
Wkt Runs Partners			Opp	osition		Date
1 st 58 E LAY & 3	S DAFT			ATTON & AS	SLOCKTON	01.05.93
_	P COCKERT	ON		ATTON & AS		01.05.93
· -	D BALDREY			MBLEY		08.05.93
	EY & P COI			MBLEY		08.05.93
	RTON & R F			JMTREE II		
_						19.06.93
_	G & G ROB			YTHORPE		29.05.93
	IG & S DAF	l		KLING		24.07.93
	N PALMER			JNTON		15.05.93
_	HER & J BEI			ΓGRAVE		28.08.93
10 th 17 H PICK &	N PALMER		CAY	YTHORPE		29.05.93

2 nd XI BOWLING	Averages (qualifica	tion 8 wickets or	· 60 overs)
----------------------------	---------------------	-------------------	-------------

	Overs	Maidens	Runs	Wkts	Ave
D HALLAM	36.2	4	107	9	11.89
H PICK	158.4	53	385	29	13.28
S PICK	151.1	39	418	29	14.41
P COCKERTON	131	22	378	24	15.75
G ROBSON	128.4	13	453	22	20.59
Also bowled					
R A BAKER	6.1	2	15	4	3.75
K HITCHCOCK	7.3	0	22	4	55.50
N PALMER	3	0	25	2	12.50
J BORDER	14.5	0	75	5	15.00
J BUTTERY	5	0	21	1	5.00
P BRANCH	27.1	2	115	4	28.75
J BEETON	17	0	75	1	75.00
K BRACE	12.3	2	47	0	
I KITCHINSON	7	0	35	0	
S MEEK	6	3	9	0	
Best with the Ball					

Figures	Player		Opposition	Venue	Date
4-9	H PICK	V	RAVENSHEAD	A	05.06.93
4-15	R A BAKER	V	CAUNTON	A	15.05.93
4-22	K HITCHCOCK	V	RUDDINGTON II	Α	12.06.93

2 nd XI CATCHING & STUMPI	NG:	
	Catches	Stumpings
S DAFT	9	3
I KITCHINSON	9	
P COCKERTON	8	
P COLLINS	7	
P BRANCH	3	
H PICK	3	
G ROBSON	3	
D BALDREY	2	
T JENKINSON	2	
E LAY	2	0
N PALMER	2	
R A BAKER	1	
M BROWN	1	
A ELLIOTT	1	
D FLETCHER	1	0
D HALLAM	1	
P KEELING	1	
S PICK	1	
J WOODFORD	1	
T WRIGHT	1	0

MATICIT	DECLU TO	· NOTETINI	711 A B # 1787		LACIT	г D	. ,	EWO	
MATCH		in NOTTING		ENING LE					
	05.05.93					Won by 7 wkts Match abandoned			
	13.05.93								
	25.05.93 08.06.93	GEDLING OLDS	COLLIER	ĭ		Won Tie	by 3	WKIS	
	15.06.93	ELLERSLI	E						
	22.06.93	JOHN PLA				Won by 26 runs Lost by 6 wkts			
	29.06.93	LADY BAY							
	13.07.93	GEDLING				Won by 6 wkts Lost by 6 wkts			
	28.07.93	OLDS	COLLIER	L		Lost by 70 runs			
	03.08.93	ELLERSLI	F			Lost by 39 runs			
LEAGUE	E TABLE:	LLLLKSLI	L		11	Lost	oy 37	Tulis	
LLAGGE	TINDEE.			Pld	W	L	Tie	Pts	
1	OLDS			10	8	1	1	60	
2		G COLLIERY	,	10	6	4	0	46	
3	KEYWO			9	4	4	1	35	
4	ELLERSL			10	4	6	0	31	
5		Y FOREST		9	4	5	0	29	
6	JOHN PL			10	2	8	0	19	
SALAMA	AN CUP								
	1st rd	24.05.93	THORPE	ARNOLD			Η	Lost by 8 wkts	
EDDIE N	1ARSHALI	CUP						-	
	1 st rd	11.05.93	KEGWO	RTH			Α	Lost by 8 wkts	
	1 st rd	17.06.93	GPT				Н	Won by ?	
	1 st rd	14.07.93		OROUGH			?	Won by 14 runs	
NOTTIN		ENING LEA							
	1 st rd	18.05.93		G COLLIE	RY		Н	Won by 6 wkts	
	2 nd rd	01.06.93		ARMERS			Н	Won by 22 runs	
	Q/F	21.06.93		ALL BAPT	ISTS		H	Won by 130 runs	
	S/F	15.07.93	ROLLS F				?	Won by 6 wkts	
	Final	22.07.93	PLUMTE	KEE			N	Won by 6 wkts	
EVENIN	CIEACHE	E XI BATTIN	JC Arranas	os (analifia	ation !	.	alata d	linnings)	
E A ELAHA	G LEAGUE	AIDAIII	Matches	Innings	Not		HS		Ave
	M DRING	i T	10	9	4		32		30.00
	D HILBO		11	11	1		60		23.20
	J CHILDS		13	9	1		50		23.13
	G BAKER		11	10	3		56		22.57
	J DRING	-	14	11	3		46		19.38
	E LAY		6	6	1		643		18.00
	T NEWBY	Y	18	16	1		46		17.27
	R A BAK		14	9	5		32	* 69	17.25
	S KING		10	10	0		44		15.20
	J PAVIS		6	5	0		44		14.40
	B NEWB		9	7	0		20		7.71
	I KITCHI		14	9	4		10		5.40
	T HEPBU	RN	14	8	1		5	14	2.00

1773 SEASOI	v continueu							
Also Batted	•							
A	BALL	16	5	4	13	17	17.00	
D	BALDREY	2	1	0	12	12	12.00	
A	ELLIOTT	2	2	0	10	10	5.00	
M	SURTEES	4	4	0	4	9	2.25	
J F	BUTTERY	2	2	0	0	0	0.00	
R	DRURY	1	1	1	40*	40		
S	MEEK	5	4	4	111*	146	5	
	PALMER	15	1	1	2*	2		
Best off the B								
Run	•			osition		Venue	Date	
111		V				Н	17.06.93	
64		V		MTREE		N	22.07.93	
60			HUC	CKNALL E	BAPTISTS	Н	21.06.93	
	Partnerships of	the Season					_	
	uns Partners				osition		Date	
		6 & J CHILDS			CKNALL I		21.06.93	
		S & S MEEK			CKNALL I		21.06.93	
		& D HILBORN			LLS ROYC	E	15.07.93	
		BY & J DRING			AYERS		05.05.93	
		CR & M DRING	7 D	OLI			08.06.93	
		ORN & R A BAKI			LERSLIE	I I IEDW	03.08.93	
•		S & I KITCHINS URN & J BORDE			DLING CO	LLIERY & LINBY	13.07.93	
-		G & J DRING	K	OLI		& LIND	01.08.93 28.07.93	
10 th	-	INSON & A BAL	т			& LINBY	01.08.93	
	Hitters of the se		L	r Ai	I I LL WICK	& LIND I	01.06.93	
_	CHILDS	4						
	KING	4						
	BAKER	3						
	HILBORN	3						
	LAY	2						
	DRING	<u>-</u> 1						
	DRURY	1						
	NEWBY	1						
	NEWBY	1						
EVENING L	EVENING LEAGUE XI BOWLING Averages (qualification 8 wickets)							
			Ma		Runs	Wkts	Ave	
R	A BAKER	24		1	201	19	10.58	
T	NEWBY	68		4	370	22	16.82	
T	HEPBURN	34		0	276	14	19.71	
	BALL	57.2		2	464	17	27.79	
Also Bowled								
	KITCHINSON	10		0	82	6	13.67	
	BUTTERY	1		0	24	1	24.00	
	PALMER	3		0	33	1	33.00	
	KING	6		0	76	2	38.00	
	MEEK	7.4		0	38	1	38.00	
	DRURY	2		0	19	0		
	PAVIS	2		0	23	0		
M	SURTEES	1.5		0	14	0		

Best with the Ball...

Figures	Player		Opposition	Venue	Date
5-18	T NEWBY	V	HUCKNALL BAPTISTS	H	21.06.93

EVENING LEAGUE XI CATCHING & STUMPING:

	Catches	Stumpings
M DRING	6	3
R A BAKER	4	
A BALL	4	
J DRING	4	1
T HEPBURN	4	
N PALMER	4	
J CHILDS	2	
D HILBORN	2	
B NEWBY	2	
T NEWBY	2	
K HITCHCOCK	1	
S KING	1	
I KITCHINSON	1	
S MEEK	1	

THURGARTON SIX-A-SIDE TOURNAMENT WINNERS...



Team, left to right, back row...Barry Newby, Dave Baldrey, Tony Newby, front...Alex Ball, Tim Hepburn (capt) & Rob Baker (batting award winner).